
 

 1 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 

 
 

 
 

WALK- IN- TEST 1  
 

PERCENTAGE & PROBABILITY  
 
1. Answer the following questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
 
A. A student gets 31% marks in an examination but fails by 12 marks. 

If the pass percentage is 35%, find the maximum marks of the 
examination.  
xU khzth; 31% kjpg;ngz;fisg; ngw;W 12 kjpg;ngz;fs; 
Fiwthf ngw;wjhy; Njh;tpy; Njh;r;rp ngwtpy;iy. Njh;r;rp ngw 35% 
kjpg;ngz;fs; Njit vdpy;> Njh;tpd; nkhj;j kjpg;ngz;fisf; 
fhz;f.  
Solution: 

 Let x be the maximum mark of the examination. 

 The students gets 31% of total Marks 
31

100
x  

 Given 
31

12 35%of
100

x
x   

             
31 35

12
100 100

x x
   

  
35 31

12
100 100

x x
   

  (35 31) 12
100

x
   

   
4

12
100

x
  

                
12 100

300
4

x


   

 The maximum mark of the examination = 300 
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B. By selling 8 articles, a shopkeeper gains the selling price of 3 

articles. Find his gain percentage. 
8 nghUs;fis tpw;gjhy;> xU filf;fhuUf;F 3 nghUs;fspd; 
tpw;gid tpiy ,yhgkhff; fpilf;fpwJ vdpy;> mthpd; ,yhgr; 
rjtPjj;ijf; fhz;f.  
Solution:  
  Since we have given that  
 on selling 8 articles he gains the selling price of 3 articles.  
 so, Mathematically it is expressed as  
  8SP = 8CP + 3SP  
  8SP – 3SP = 8CP  
  5SP = 8CP  

  8

5

SP

CP
  

 So, SP > CP, so there will be profit.  
 So, profit % would be  

 8 5
100

5

x x

x


  

 = 3
100

5
  

 = 3 × 20 = 60% 
 Hence, the gain percentage would be 60%.  
 

2. Answer the following questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 

A. A woman bought some eggs at the rate of 4 eggs for ì 18 and sold 
them at the rate of 5 eggs for ì 24. She gained ì 90 in selling all the 
eggs. How many eggs did she buy.  
xU ngz; 4 Kl;ilfs; ì 18 tPjk; thq;fp 5 Kl;ilfs; ì 24 tPjk; 
tpw;fpwhs;. thq;fpa midj;J Kl;ilfisAk; tpw;wjpy; mts; ì 90 
I ,yhgkhfg; ngw;whs; vdpy;> mts; thq;fpa Kl;ilfspd; 
vz;zpf;if vt;tsT?  
Solution:  

  Let the number of eggs bought by her be x.  

  Then, Cost Price = ì 
18

4
x

9

2

x
  
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  Selling Price = ì 
24

5
x  = ì 

24

5

x
 

   Gain = S.P – C.P = ì 
24 9

5 2

x x
  

     = 
48 45 3

10 10

x x x
  

   Given, gain = ì 90  

   That is, 
3

10

x
 = ì 90 

    x = 
90 10

300
3


  

 
B. Kumaran worked 7 months out of the year. What percentage of the 

year did he work? 
Fkud; Mz;Lf;F 7 khjq;fs; Ntiy nra;fpwhh; vdpy;> me;j 
Mz;by; mth; vt;tsT rjtPjk; Ntiy nra;jhh; vd;gijf; 
fzf;fpLf.  
Solution:  

  Number of months in a year = 12 
  Number of months worked by Kumaran = 7 

  Percentage of months worked by Kumaran = 7
100%

12
  

       = 7 100 4 7 25
% %

12 4 3

  



 

      = 175 1
% 58 %

3 3
  

 
3. Answer the following questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
A. What is the probability of drawing a King or a Queen or a Jack 

from a deck of 52 cards?  
52 rPl;Lfs; nfhz;l xU rPl;Lf;fl;bypUe;J xU glr;rPl;L (mjhtJ 
,uhrh> ,uhzp my;yJ ke;jphp (jack)?) Njh;e;njLg;gjw;fhd 
epfo;jfT vd;d?  
solution:  
  The outcomes n(S) = 52 
 Let E be the event of getting a king or a queen or a jack = 4 + 4 + 4 
         n(E) = 12 

         P(E) = ( )

( )

n E

n S
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         = 
12 3

52 13
  

        
B. A manufacturer tested 7000 LED lights at random and found that 

25 of them were defective. If a LED light is selected at random, 
what is the probability that the selected LED light is a defective 
one.  
Xh; cw;gj;jpahsh; 7000 xsp ckpo; ,UKida tpsf;Ffis (LED 
lights) Nrhjid nra;jjpy; mtw;wpy; 25 tpsf;Ffs; 
FiwghLilajhff; fz;lwpag;gl;ld. rk tha;g;G Kiwapy; xU 
tpsf;ifj; Njh;e;njLf;Fk;NghJ mJ FiwghLilajhf ,Uf;f 
epfo;jfT vd;d?  
Solution:  
  Sample space n(S) = 7000 
 Let E1 be the event of getting selected LED light is a defective one  
   n(E1) = 25 

   P(E1) = 1( )

( )

n E

n S
 

    = 
25 1

7000 280
  

     
4. Two cards are drawn with replacement from a well shuffled deck of 52 

cards. Find the Probability distribution, mean and variance for the 
number of queens. 

 ed;whff; fiyf;fg;gl;l 52 rPl;Lf;fslq;fpa rPl;Lf;fl;bypUe;J 
 ,UrPl;Lfs; jpUk;g itf;Fk; Kiwapy; vLf;fg;gLfpd;wd uhzp 
 (Queen) rPl;Lfspd; vz;zpf;iff;F epfo;jfT guty;> ruhrhp kw;Wk;
 gutw;gb fhz;f.  
 Solution:  
 Let X denote the number of queens drawn in drawing two cards with 
 replacement.  
  X can take the values 0, 1 and 2.  

  Let P(S) = P (getting queens) = 4

52
P(F)  

   = P (not getting queens) = 48

52
 

  P(X = 0) = P (no queen) = P (FF) = P(F)  

  P (F) = 48 48 144
.

52 52 169
  
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  P (X = 1) = (one queen) = P (SF or FS) = P(S). P(F) + P(F) P(S)  

    = 2P(S).P(F) = 4 48 24
2

52 52 169
    

  P(X=2) = (two queens) = P(SS) = P(S)  

  P(S) = 4 4 1
.

52 52 169
  

  
  Probability distribution  

X 0 1 2 

P(X = x) 144

169
 24

169
 1

169
 

 

  
144 24 1

[ ] (0) (1) (2)
169 169 169

i iMean E x x p




     
         

     
  

   
24 1

(1) (2)
169 169

   
   

   
 

   = 24 2 26 2

169 169 13


   

  E(x2) = 
2

2 2

0

144
(0 )

169
i i

x

x p


 
  

 
 (12) 224 1

(2 )
169 169

   
   

   
 

   24 4 28

169 169


   

 Variance (X) = E(x2) – (E(x))2 

  = 
2

28 2 28 4 24

169 13 169 169 169

 
    
 

 

 
5. X speaks truth in 70 percent of cases, and Y in 90 percent of cases. What 

is the probability that they likely to contradict each other in stating the 
same fact? 
X vd;gth; 70% jUzq;fspy; cz;ikNa NgRth;. Y vd;gth; 90% 
jUzq;fspy; cz;ikNa NgRth; vdpy; xNu fUj;ij ,UtUk; 
$Wifapy; xUtUf;nfhUth; Kuz;gl;l fUj;jpidj; njhptpg;gjw;fhd 
epfo;jfT ahJ?  
Solution:  
Let A be the event of X speaks the truth, B be the event of Y speaks the 
truth  

A  is the event of X not speaking the truth and B  is the event of Y not 

speaking the truth.  
Let C be the event that they will contradict each other.  
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 Given that  
  P(A) = 0.70  P( A ) = 1 – P(A) = 0.30  
  P(B) = 0.90   P( B ) = 1 – P(B) = 0.10  
C = (A speaks truth and B does not speak truth or B speaks truth and A 
does not speak truth)  
  C = [(A B )  ( AB)]        

 Since (A B ) and ( AB) are mutually exclusive.  

   P(C) = P(A B ) + P( A  B)  

   P(A) P( B ) + P( A ) P(B)  
(since A, B are independent event, A , B are  
    also independent events)  
   = (0.70) (0.10) + (0.30) (0.90)  
   = 0.070 + 0.270 = 0.34  
    P(C) = 0.34  
 

15 Mark  
 
6. Answer the following questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
 
A. A man bought an article on 30% discount and sold it at 5% more 

than the marked price. Find the profit made by him. 
xU nghUis 30% js;Sgbapy; thq;fp> xU egh; mjidf; Fwpj;j 
tpiyf;F Nky; 5% $Ljyhf tpw;whh; vdpy;> mthpd; ,yhgr; 
rjtPjk; fhz;f.  
Solution: 
  Let the marked price = Rs. 100 
  Man bought is at 30 percent discount  
 Therefore  
 CP of article for man = 100 – 30% of 100 = 100 – 30 = Rs. 70 
  Man sold it at 5% more than marked price  
  SP of article for = 100 + 5% of 100 = 100 + 5 = Rs. 105  
  profit SP – CP = 105 – 70 = Rs. 35 

  Profit percentage = 35
100

70

profit

CP
    100 = 50%   

 Hence, the man made a profit of 50%.  
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B. A shopkeeper buys goods at 
4

5
 of its marked price and sells them 

at 
7

5
 of the marked price find his profit percentage. 

xU filf;fhuh;> nghUs;fis mjd; Fwpj;j tpiyapy; 
4

5
 gq;fpw;F 

thq;fp> Fwpj;j tpiyapy; 
7

5
 gq;fpw;F tpw;why;> mthpd; ,yhgr; 

rjtPjk; fhz;f.  
Solution:  
  Let the actual marked price of the goods be X.  

  Shopkeeper buys goods at 4

5
 of its marked price = 4

5

x  

  And sells them at 7

5
 of the marked price = 7

5

x  

  So, profit = selling price – Buying price  

      = 7 4 3

5 5 5

x x x
   

  So, profit percentage = (Profit/actual price) × 100  

  = 3 4
{( ) /( )} 100

5 5

x x
  

  = ( 3

4
) × 100 = 75%  

   
7. Answer the following questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
A. In a leadership election between two persons A and B, A wins by 

a margin of 192 votes. If A gets 58% of the total votes, find the 
total votes polled. 
xU jiyikiaj; Njh;e;njLf;Fk; Njh;jypy; A kw;Wk; B Mfpa 
,U egh;fspy; A Mdth; 192 thf;Ffs; tpj;jpahrj;jpy; ntw;wp 
ngWfpwhh;. nkhj;j thf;Ffspy; A Mdth; 58% I ngWfpwhh; 
vdpy;> gjpthd nkhj;j thf;Ffisf; fhz;f.  

 Solution:  
 Let the total votes polled be x.  

 Votes polled in favour in A = 58% of x = 
58

100

x
 

 Votes polled in favour of B = (100 – 58)% of x = 42% of x =
42

100

x
 

 Given, winning margin A – B = 192 
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 That is, 
58 42

192
100 100

x x
   

  
16

192
100

x
   

  
100

192
16

x    

  x = 1200 votes  
 

B. A fruit vendor bought some mangoes of which 10% were rotten. He 

sold 33
1

3
% of the rest. Find the total number of mangoes bought by 

him initially, if he still has 240 mangoes with him.  
xU go tpahghhp thq;fpa khk;goq;fspy; 10% mOfpapUe;jd. 

kPjKs;stw;wpy; 33
1

3
% khk;goq;fis tpw;Wtpl;lhh;. jw;NghJ 240 

khk;goq;fs; mthplk; ,Uf;fpd;wd vdpy;> Kjypy; mth; thq;fpa 
nkhj;j khk;goq;fspd; vz;zpf;ifiaf; fhz;f.   
Solution:  

 Let x be the initial number of mangoes. 

 Number of Rotten mangoes = 10% 

 / Number of good mangoes  

    
90

90%of
100

x x   

 Percentage of sold mangoes 
1

33 %
3

  

 Percentage of unsold mangoes 
1

100 33 %
3

   

      = 
2

66 %
3

 

 Given 
2

66 %
3

 of unsold mangoes 240  

   
2 90

66 240
3 100

100

x   

   
200 90

240
3 100 100

x 


 

   
2 9

240
3 10

x    

      
240 3 10

400
2 9

x
 

 

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/ The vendor bought 400 mangoes initially. 

 
8. The probability that a new ship will get an award for its design is 0.25, 

the probability that it will get an award for the efficient use of materials 
is 0.35, and that it will get both awards is 0.15. What is the probability, 
that 
(i) it will get atleast one of the two awards 
 (ii) it will get only one of the awards 
Gjpjhf xU fg;gy; fl;g;gl;Ls;sJ. mf;fg;gypd; mikgpw;fhf mjw;F 
tpUJ fpilg;gjw;fhd epfo;jfT 0.25. Neh;j;jpahd Kiwapy; %yg; 
nghUl;fisg; gad;gLj;jpajw;fhf mjw;F tpUJ fpilg;gjw;fhd 
epfo;jfT 0.35> Nkw;fz;l ,U tpUJfisAk; ngWtjw;fhd epfo;jfT 
0.15 vdpy;>  
i. Fiwe;jJ xU tpUjhtJ fpilg;gjw;F  
ii. xNu xU tpUJ kl;Lk; fpilg;gjw;F epfo; jfTfs; ahit?  
Solution:  
Probability of getting the award for its design = P(A) = 0.25 
Probability of getting the award for the  
efficient use of materials = P(B) = 0.35  
Probability of getting both awards = P(A B) = 0.15 

Now P(A) = 0.25; P(B) = 0.35 and P(A  B) = 0.15  

i. P(A  B) = P(A) + P(B) – P(A B)  

 = 0.25 + 0.35 – 0.15 = 0.60 – 0.15 = 0.45    
ii. ( ' ') ( ') ( ' )P A B or B A P A B P A B   
 ( ') ( ) ( )P A B P A P A B   

  = 0.25 – 0.15 = 0.10  
 P(A'  B) = P(B) – P(A  B)  

  = 0.35 – 0.15 = 0.20  
 P(A  B') + P(A'  B) = 0.10 + 0.20 = 0.30  

  
9. Answer the following questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
A. A husband and wife appear in an interview for two vacancies in the 

same post. The probability of husbands’ selection is 1/6 and that of 
wife’s selection is 1/5. What is the probability that 
(i) both of them will be selected  
(ii) only one of them will be selected 
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(iii) none of them will be selected 
xU fztUk; kidtpAk; xNu gjtpf;Fhpa ,uz;L fhypahd 
,lq;fSf;Fj; Njh;T nra;a Neh;Kfj; Njh;tpw;F miof;fg;gLfpd;wdh;. 
fzth; Njh;T nra;ag;gLtjw;fhd epfo;jfT 1/6, kidtp Njh;T 
nra;ag;gLtjw;fhd epfo;jfT 1/5 vdpy;  
i. ,UtUNk Njh;T nra;ag;gLtjw;F  
ii. ,Uthpy; xUth; kl;LNk Njh;T nra;ag;gLtjw;F  
iii. ,UtUNk Njh;T nra;ag;glhjjw;fhd epfo;jfTfisf; fhz;f. 
Solution:  
  Let A : Event of husband being selected  
         B : Event of wife being selected  

    P(A) = 1

6
 

   P(B) = 1

5
 

   1 5 1 4
( ) 1 ; ( ) 1

6 6 5 5
P A P B       

 i. Both of them will be selected = P(A) × P(B)  

    = 1 1 1

6 5 30
   

 
  i. only one of them will be selected  
     = ( ) ( ) ( ) ( )P A P B P A P B    

     = 1 4 5 1

6 5 6 5
    

     = 4 5 9 3

30 30 30 10
    

   None of them selected  

     5 4 2
( ) ( )

6 5 3
P A P B     

 
B. What is the probability of drawing either a king or a queen in a 

single  draw from a well shuffled pack of 52 cards? 
ed;F fiyj;J mLf;fg;gl;l 52 rPl;Lfs; nfhz;l rPl;Lf; fl;bypUe;J 
xU rPl;L vLf;Fk;NghJ Xh; ,uhrh my;yJ Xh; ,uhzp 
fpilg;gjw;fhd epfo;jfT vd;d?  
Solution:  
  Total number of cards = 52 
  Number of king cards = 4  
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  Probability of drawing a king card = 
4

52
 

  Number of queen cards = 4 

  Probability of drawing of queen card = 
4

52
 

 Both the events of drawing a king and a queen are mutually 
 exclusive  ( ) ( ) ( )P A B P A P B    

  Therefore, probability of drawing either a king or a queen is  

   
4 4 2

52 52 13
   

  
10.  Answer the following questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
 
A. A jar contains 54 marbles each of which is in one of the colours 

blue, green and white. The probability of drawing a blue marble is 
1

3
 and the probability of drawing a green marble is 

4

9
. How many 

white marbles does the jar contain? 
xU Kfitapy; ePyk;> gr;ir kw;Wk; nts;is epwq;fspyhd 54 
gspq;Ff;fw;fs; cs;sd. xU gspq;Ff; fy;iy vLf;Fk; NghJ> ePy 

epwg; gspq;Ff;fy; fpilg;gjw;fhd epfo;jfT 
1

3
 kw;Wk; gr;ir epwg; 

gspq;Ff;fy; fpilg;gjw;fhd epfo;jfT 
4

9
 vdpy;> mk;Kfitapy; 

cs;s nts;is epwg; gspq;Ff; fw;fspd; vz;zpf;ifiaf; fhz;f.  
Solution:  
  b + g + w = 54 

 P (selecting a blue marble) = 
54

b
 

    
1

3 54

b
  

     b = 18  
  Now,  

   P (Selecting a green marble) = 
4

9
 

   
4

54 9

g
  

 g = 24  
Therefore,  
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  18 + 24 + W = 54 
  W = 12  
  Hence, the jar contains 12 white marbles.  
 

B. A two digit number is formed with the digits 2, 5, 9 (repetition is 
allowed). Find the probability that the number is divisible by 2 or 
5. 
2, 5, 9 vd;w vz;fisf; nfhz;L> Xh; ,uz;byf;f vz; 
mikf;fg;gLfpwJ. me;j vz; 2 my;yJ 5 My; tFgLkhW mika 
epfo;jfT fhz;f.  
(mikf;fg;gLk; vz;zpy; xNu ,yf;fk; kPz;Lk; tuyhk;)  
Solution:  
  S = {25, 29, 52, 59, 95, 92, 22, 55, 99} 
   n(S) = 9 
divisible by: 2  

    P(A) = ( )

( )

n A

n S
 

    A = {52, 92, 22} ; n(A) = 3  

    P(A) = 3

9
 

  divisible by : 5  
    B = {25, 95, 55} 
    n(B) = 3 

    P(B) = 3

9
 

    A B = 0 
  P(A  B) = P(A) + P(B) = P(A  B)  

    = 3 3
0

9 9
   

    = 6 2

9 3
  

 
 
 


